Formulae for STAT319

ZX; §° = Sixl, where S EZ“(X—X)2 =ZX2—%(ZX)2;
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2. The Poisson distribution f(X) = (;Ltl) e x=0,1... E(X)=At,V(X) =1t
X
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. E(X) EJ.OO x f (x)dx, often denoted by simply 2. E(X?) ZJ.OO x* f(x)dx, o =E(X?) -’
4. The Exponential Distribution: f (X) = % e, 0<x, E(X)=2, V(X)=p

. Waiting Time Distribution: f(t)= Ae™, 0<t; E(X)=1/A, V(X)=1/ 2%,
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If X ~N(u,0°), then z H_ XU =Z where Z ~ N(0,2).
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7. T = # , with degrees of freedom v =n-—1.
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8. PP =Z; Weak; PP =Z. (Weaker)
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9. CI for i, (c known, any n, normal): X + Za,z(
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10. ACI for u, (c known, large n, nonnormal). X + Z_,, (—J
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11. sample size for estimating z£ : N= g—ézaz, where P(| X —ul<e)=1-a.
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12. CI for i, (c unknown, large n, nonnormal). X+2Z_, (—j
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13. Clfor i, (o unknown, any n>2, normal): X + t , (—j forany n>2 .

&

14. Clfor p when n large: P+ Zalz‘ff)q/n.
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15. Large sample size for estimating p: N = Pg where € is the error in estimation.



